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Fourth Qemcstel B.Arch. Degree Examination, Dec. 2017/J4n,1018
'\‘b\“\Speclflcation Quantity and Costmg

USN {

\/ W/
Time: 3 hrs. U ) Max Marks: 100
Note: Ansu>ér FI VE Jull questions, choosing one full question ﬁrb)n each module.
< Module-1 iJ:‘;\_\.,. S
1 List out dlf’ferent ty}\ck of approximate building methods: (/K: -
Carpet area — 60‘Sq‘mt’ Wall area — 10.93%, Cost of constty Yorof building — ¥ 10,00,000,
Height of building front- \ound & /
Level to top of roof slib~ 13&0 meters, G "\%
Parapet wall height — 0. 8\ gt rs (\\)\'7 (06 Marks)
a. Determine cost per sq.mt'b h: th Area method. Q (07 Marks)
b. Determine cost per cumt b}*@ ume rate method. ( 5 \\5 (07 Marks)
kt OR G\\>-
2 Write detailed specification for l\e\f/ollowmg giving measuring mode adopted, scaffolding
where necessary also. (\‘
a. Laying 600x 600 mm vitrified file N é{zﬂf N6 ped. (08 Marks)
b. Pointing in CM 1 : 1 over exposed bnck ma$onry (06 Marks)
¢. Excavation for foundation trenches. & Q q S (06 Marks)
M’(
3 Refer Fig. Q3. Using short wall- long wall method;
a. Calculate Net center line with ca] Qula;non details. S (08 Marks)
b. Calculate the quantity of earthwofks in excavationd6r '{}mdatlon (04 Marks)
c. Calculate the quantity PCC | I 478 for foundation. & (04 Marks)
d. Calculate the quantity of DléC ) ;/) (04 Marks)
{ <f<, OR =)
4 a. Refer Fig. Q3. Using sho V/Il long wall method, \3;'5-{)\\
b. Calculate Quantity of SSM in CM 1 : 6. S 2 (10 Marks)
c. Calculate Quantlty(of %00 mm thick solid block wall. Kﬁ/)’;ﬁ (10 Marks)
w k_, Module-3 & >/
5 a. Write briefly nn escalatlon clause in the condition of contract. Alse Write the formula to
calculate the( cost Variation in material and cost variation on labour. S (08 Marks)
b. Write brlcﬂy bg basic price. & C) (06 Marks)

c. Basic p;;cc of reinforcement steel is indicated in the tender as ¥ 50,0 Qp MT and the
quantity, pf Reinforcement steel is 10 MT. If the purchase price at the end‘oé the project is
< 48,000 per MT. Write if the client is obligated to receive from the contra toF Qr pay the

conl(aqtor -' ((lg Marks)
fL T X )\
& OR Cr
6 Detallcd rate analysis for [Importance is given for the detailed steps followed in the aﬁ\llysns
of rates|
a. 12 mm thick cement plaster in CM 1 : 4, (07 Marks)
b. Random rubble masonry in CM 1 : 6. (07 Marks)
¢.  300x300mm plain ceramic tile flooring in CM 1 : 3, (06 Marks)
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Module-4
Refer Fig. Q7 & Fig. Q8, caleulate Reinforcement steel quantity ofRCC‘culu/mn from the
data - D?/‘% as below, \b7% (20 Marks)

AV
N\ O
\\ OR L

Rcfcrl Yig, Q'! / Fig. 8, calculate the quantities of RCC roof slab, RCC col tin and RCC roof
beam member: from the data D — 7/8 as below. N\
D-17/8 l‘o[lﬁwmg are the data: ¢ \\
. Size of'¢olumn 200x 600 mm, number of columns are — 4{:
*  Height of\.olmﬁn from top of footing to bottom of roof; beam is 4 mt,
. Size of RCE 1 roof lab is 3000 x 5000 mm and 125 mni mak
©  Size of RCCn oD beam connecting the 4 columns :s?ﬁ) %300 mm.
. Depth of beam excludmg thickness of slab. (¢ \\\\
Main reinforcement ofcglumn —4 Nos. 0of 20 mm dia \\

4 Nos. of 16 mm dla\\ v
Main reinforcement ofBeam =3 Nos. of 16 mm d[aﬂ,\\

- 3\Nos\ of 12 mm dwg
Stirrups 8 mm dia at spacing 150, m@ T/C

7N
2 -'\ x) \
Assume 2 to derive weight of all\bars i k\, pef mt, where d is the dia of the bar in mm or
7850 kg per cumt as density. G a (20 Marks)
,"\\ \\ -

mduleo o\
Refer Fig. Q9
Calculate the cost of water per &t\a\m underground\sump tank. Consider the following item
of work to be executed, whose rate)is given to calculdte the cost of water per litre. (Do not
consider the cost of remforcemetﬁ“steel Consider l\c\umt as 1000 Itr of water)

Earthwork in excavation mu\ludﬁ]g back filling @ 600" per\t.umt
PCC1:3:6bed @ 4500 \pgr/ cumt.

M20 RCC floor slab @7 7 00per cumt.
M20 RCC side walls (@) 12000 per cumt.
M20 RCC covering slab\@ 10500 per cumt.

External wall plas(ermg inCM 1 : 6 @ 450 per sq. mt. (© )'; -

Internal wall plas»er&w in CM 1 : 4 mixed with water proof compound\@ 600 per sqmt.

(20 Marks)

<
\\‘

(o <
¢ \ OR N
Define the: foil&wmg
Ccrtlﬁc{até ef virtual completion. \

quundéte%VdamageS PN
RA“biH\and Final bill. Qs
Payment certificate. A

/Measurement book. (20 Marks)

L
N\ x\\
'\
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